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1 3.073 | 3.048 | 3.026 | 3.007 | 2.990 | 2. 975
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(b) ORI AR - SESEN  EEFEARCERAEE - K2 OLSE M B A~ miE - ERNEXM: > HItsE
B2EMEAR IEHE
(QMETETSIE « K/t OLSE
(c) (1) BBFHAEERIEE
EIEB 1Y = Bo + B1x+ D+ B3xD+e (X, DHXKEIEH)
_{60+le+£ ,ifD=0
B +B) + (B +Ba)x+e, ifD=1
(Q)EFFFHARSEM S H D KX E/EA » (FIS28UEEHE(OLSE) A Rz » B8l e N IEhE -
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Y 1 0 1 1 0 0
X1 1 -2 1 0 0 0
X2 0 1 2 2 1 0

(- )»y X1~ X244 & SR E 2,3 e 8 > ¥ 2 EX05 E R E62 22080 dm §
s & AR E i AN Y Y = BOXO+B1X1+BZX2+3 7o o #-ByX0+ B XL+ B,X2 {

ﬁ-f@mu{gxi_g? SHrBAET OV Ao BT M BFAG L2 (44)

(Z)F e FHaN? 2 $de B b | T2 G382 G- 2 @B dck % 8 et (variance-
covariance matrix) - (84 )

(Z)2 Y 5 ERE*6ho B > A% s AN Y ope g @ (fitted values) » Rl -
i @Y =HY » 35 pEEle (44)

(z )3 & MY % & g% F]+ (variance inflation factor, vif) Vif(X1) &
vif(X2) « (44 )
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variance-covariance matrix (dispersion matrix)

cov(Y) = cov(XB + €) = cov(e) = 62 - I
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(=AM 2 73 RS 5 55 2 - dn ks L faffs EL8 ¢ A Bl
FF-statistic : 4961 on 11 and 9988 DF, p-value :< 2.2e-16, zZ &. & o (44 )
(Z)BAHAIMI™ » 2 a A 2% fpeanfdn] ~ &80 2 B2 S dicim 3t B ~er£%;?@%’ o (64 )
(E)FT2ERF AL AR %7 BAY 2B ORET I 2 HAIIM22 5% - 13551ML
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L IMIELN2 P F et £7 7 > Sk < B/ML Rl = 3R FFF G EFL AL
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20 AP EEAREY KK = FBEFF GRP RFZ e 2 L BRA T a4
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oA LM Estimate | Std. Error | t value | Pr(>|t])
(Intercept) 97. 487 0.627| 155.365( 0.0000
4 5] 19. 564 0.113] 173.786( 0.0000
& 0.452 0.005| 86.894| 0.0000
LR F & 4p 8B 1.249 0.458 2.729] 0.0064
o BY N 2.070 0.108| 19.084( 0.0000
oY R 0.557 0.100 5.545| 0.0000
Er ¥ i 3.012 0.311 9.697( 0.0000
PhIFY 1R -0. 741 0.294| -2.522| 0.0117
LY R 0.046 0. 049 0.936] 0.3494
b B Ap & -1. 827 0.979] -1.866| 0.0621
g 2.933 0. 858 3.418| 0.0006
PER, 5 -0. 005 0.019[ -0.284| 0.7764

Residual standard error: 4.923 on 9988 degrees of freedom
Multiple R-squared: 0.8453, Adjusted R-squared: 0.8451
F-statistic: 4961 on 11 and 9988 DF, p-value: < 2.2e-16

HoA LM2 Estimate | Std. Error | t value | Pr(>|t])
(Intercept) 97. 551 0.624| 156.414 0.0000
e 19. 570 0.111] 176.780| 0.0000
= 0.452 0.005| 86.912( 0.0000
&R & 4p #BMI 1. 247 0.457 2.726] 0.0064
o BY N 2.070 0.108] 19.081( 0.0000
o dEY R 0. 556 0.100 5.532| 0.0000
T ¥R 3.013 0.311 9.702( 0.0000
IRy IR -0. 746 0.294] -2.539| 0.0111

bag -1. 836 0.979| -1.876| 0.0607
by 2.934 0. 858 3.420( 0.0006
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Residual standard error: 4, 923 on 9990 degrees of freedom
Multiple R-squared: 0.8453, Adjusted R-squared: 0, 8451
F-statistic: 6064 on 9 and 9990 DF, p-value: < 2.2e-16

H:
(—)(1) R? = 0.8453 F/r LM1 2 Fir A H SR BR AL AR R T 84.53 % - tHigfE/1>>049 » BZRS -
(2) F=4961 > F,(11 ,9988) < p—value<22e—6 K«
FoR 1 LML EER AR S
(DO RIS EEEHEES © FMEEE P MmEES i 19.564mmHg
QFE2HEEHERSR - TRk PR T 0.452mmHg
(Q)BMI 28 fEEHERES * BMI 3 ii— B AP M i 1.249mmHg
(=) L. (V) Ra{EfE RS S E I E (8L p-value J9AHIE] » (BRI LM2 5 S8t/ D el DI R - Al LM2
B
(2)BMI ~ BiMEEEE - BEEE - BMEEE - 1@EEE - MR - #HEEE  p—value<a=
0.1« FIEBEI R B =S EER T » [EEER LR
(] FEREE—EE - FIESER T - RIELERZ 1

T - BEYETEREAATAFEL R TR B 204 (74 L) B RE(y, x], x2, x3) 4T
o Heyi By ek (HL32E96.22 84 524.47) » x1=180% § 42 L > x2 (4
T32E83.6F 1R# £ 55.9) ©2x3 (H TH2EE5E RE L 510.3) A5l & K Pl fAl o
TR R ZABRET AT 2 T AL SN REE Y Ry e R iR R R

AR
0D 02 04 08 08 1D 50 80 0 80
i s
- _g .
Y : 2 -2 Model Yanables R?
Lo in model
2 o= - e — M1 x1 0.397
2 M2 x2 0.413
: x1 M3 x3 0.487
o . R | M4 | x2,x3 0.504
, . M5 | x1,x2 0.676
: P . M6 | x1,x3 0.697
i i x2 T M7 | x1x2.x3 | 0697
2 A > i & 3
21 . B . ; [l -

(m)FT REAML > 22T & eha & » P > 2F valuek t valueshErt 2 % o (124)
Analysis of Variance Table: Response: y
Df Sum Sq Mean Sq | F value

x1
Residuals
Total
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Coefficients:
Estimate | Std. Error | t value
Intercept
x1

(Z)F RHEZIML 2 Eyaxl=12 & K& L90%HTFRIHRR - (54 )
(Z) BaMI-MTHE8 P - B ~ #1555k # (entry level) o=01>3*F T2 > 7|9 BEB

(forward selection) #2 5 &2 H S % E =2 #5% » (104 )
(= )93 % PlAkaike Information Criterion (AIC) v & B A IMI-MTHCS g 3 33 #0A) -

(10~ )

(T )EHNTHESSS > AR F KB a=01T » & TX28x32 HH LT FFEE0 (54)
:

(—)SSTO = Syy = (n — 1)S% = (20 — 1) x 24.47% = 11376.8371

(EX1)? 102
SX1X1 = lez - n1 =10- 20 =5
2=3R 0397 =—>2R _ — SSR =4516.6043
SSTO 11376.8371
4516.6043

SSR=B2xSxx, =>B==

(H{-) = 30.0553

@ =y —BX; = 96.2 — (=30.0553) x == = 111.2277

— ,MSE - ’381.124—0 = 8.7307
lexl 5

2
S = \/(i+ A )MSE = \/(2—10+$) +381.1240 = 6.1735

SX1Xq
@
Df Sum Sq Mean Sq F value
X4 1 4516.6043 4516.6043 11.85
Residuals | 18 6860.2328 381.1240
Total 19 11376.8371
Estimate Std.Error t value
Intercept 111.2277 6.1735 18.02
X4 —30.0553 8.7307 —3.4425

(2) F = 11.85 > F,(1,18) = 3.007 : FyRiHmisA éf;@%
WESE t EERE - R ESEEREER 0

() Yx,o1 = 111.2277 — 30.0553 x 1 = 81.1724

Yy,o1 2 90%P.L =Yy, (20 2)\/ [1+2 +(xl X0 | MSE

SX1X1

= 811724 + 3007 |[1 + = + S22 ] x 381.1240
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= 81.1724 + 35.5055 = (45.6669, 116.6779)

(Z)Stepl : X, iy R? = 0.487 (max) » H F = 228 = 17,09 > 3.007

BEHE X (HAT model 275 HEE - X;)

Step2 :
(1) SSR(X3) = 11376.8371 x 0.487 = 5540.5197
SSR(X,X3) = 11376.8371 x 0.504 = 5733.9259
SSE(X,X3) = 11376.8371 — 5733.9259 = 5642.9112
MSR(X,|X3) = 5733.9259 — 5540.5197 = 193.4062
MSR(X,|X3) 193.4062
= = = 0.5826
MSE(X,X3)  5642.9112/(20 — 3)
< Fo1(1,17) = 3.026
(2) SSR(X;X3) = 11376.8371 x 0.697 = 7929.6554
SSE(X;X3) = 11376.8371 — 7929.6554 = 3447.1816
MSR(X, |X3) = 7929.6554 — 5540.5197 = 2389.1357
_ MSR(X,[X3) 2389.1357 1178
© MSE(X;X3) 3447.1816/(20—-3)
> Fo4(1,17) = 3.026
PR X (H AT model &4 HEH * X,X3)
step 3 :

SSR(X,X,X5) = 11376.8371 x 0.697 = 7929.6554
MSR(X;|X3) = 0

MSR(X;|X;X3)
— — - -~ > =-0< F,,(1,18) = 3.007
MSE (X, X,X5) 01(1,18)
o NP X,
v Xy Xy BEEESEMAE , BEIY =B+ Bix, +Bixs + €

(Pd) SSE(X,) = 11376.8371(1 — 0.413) = 6678.2034
SSE(X3) = 11376.8371(1 — 0.487) = 5836.3147
SSE(X;X;) = 11376.8371(1 — 0.676) = 3686.0952
SSE(X;X,X3) = 11376.8371 x (1 — 0.697) = 3447.1816
AlICp =n-InSSEp —n-lnn+2-P
M1 : AIC; = 20-1In6860.2328 —20-In 20 + 2 -2 = 120.7552
M2 : AIC, = 20-1n6678.2034 —20-1n20+2-2 = 120.2174
M3 : AIC, = 20-1n5836.3147 —20-In20+2-2 =117.5225
M4 : AIC; = 20-1n5642.9112 - 20-1In 20+ 2-3 = 118.8485
M5 : AIC; = 20 -1n3686.0952 —20-In20+2-3 =110.3318
M6 : AIC; = 20-1n3447.1816 —20-1n 20+ 2-3 = 108.9916
M7 : AIC, = 20-1n3447.1816 —20-In 20+ 2-4 = 110.9916

» M6 fzfE - M5 KZ - M7 R Z

“B2=PB3=0

() @ { “ B2, B AA[EIRFR 0

.
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@ C={F|F>Fy,(2,20 —4) = 2.668}

® F= [SSE(X1)—SSE(X1XzX3)]/2 _ [6860.2328-3447.1816]/2 _ 792 €C
SSE(X1X2X3)/(n—3) 3447.1816/(20—4)

~ treject Hy » AIEIEEIEHDT © B2, Bs NG 0
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